4403 A 148 (AER)

R RENFEHIS (A15) 2B B #H

Frx EISEIAsE: 262 v
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) AR b tExIER 5|
A H Y5 Hxt | Biike) | SEME) | REME) | REME) | SEME) | PEE) | RiEE)
130100 |[7ZLNC A # 13,810
F= 2,180 980 1,200 10 1,080 972 1,512 1,296
£E 300 0 300 10 1,188 756
= 5810 780 5,030 10 1,512 1. 080 1,404 648
G 4,300 1,428 2,872 12 1,404 1,296 1,404 1,026
130200 [V A 3 1,020
32 1,020 0 1,020 10 - - - 2,268 1,080
130340 [7¥ICALCA a3 18,490
£E 100 0 100 10 1,782
®me 3,050 0 3,050 10 1,620 864
G 6,650 0 6,650 10 1,404 540
e 4,090 0 4,090 10 1,210 1,166
BR 4,400 40 4,360 10 1, 404 1,404 950
130400 [Z (S5 3 618
LS 340 10 330 10 Z, 160 1,728 1,566
E351 130 0 130 10 1,728
fhE 10 0 10 10 1,004
130500 [=1F D @ 126
518 116 52 64 /] 5,124 1,620 5,724 1,728
BRE 10 0 10 2 6,264 5,940
130600 |[1LA A % 1,016
®me 940 5 935 5 5. 184 5724 1,080
131100 [ 3¢ % 9,839
EE 5,309 2,219 3,090 15 1, 620 972 1,512 1,188
& 4,530 960 3,570 15 1,512 1,188 2,268 864
131500 [/MAZE 3 4,476
£E 1,340 867 4731 0.2 59 43 70
131700 [Fr Y 3 47,300
50 32,360 8,100 24,260 10 1,566 918 1,728 864
EE 12,190 1,094 11,096 10 1,404 648 1,620 648
3Rl 2,000 0 2,000 10 1,512 1,080
131800 | [F5NAE 3 3,942
£E 512 428 84| 02 103 65 80 65
) 800 8 792 [ 2.592 2,808 1,188
2 2,475 0 2475 45 2,700 2,295
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4403 A 148 (AER)

R RENFEHIS (A15) 2B B #H

Frx EISEIAsE: 262 v
(ERISHERESD)
fnfh fnfh EEHh ENFE = (ke) AR b tExIER 5|
AH Y5 x| Hiike) | SEME) | HEME) | REME) | SEME) [ #EE) [ RiEE)
131910 [FHF % 2,480
N 28 0 28 0.5 702 302
£E 74 4 70 05 302 302 270
i L 370 0 370 1 1,296 432
0 1,358 0 1,358 10 3,132 2,430
BIE 570 60 510 5 4,320 2.700 4,860 2,160
= 10 0 10 1 540
131950 |H 42 EF 3 2,115
SH 1,610 320 1,290 3 1. 404 972 1,404 648
132100 | [+E 3 132
[N 132 36 96| 2.4 3. 888 3, 564 3,888 2,916
132300 | 5& a3 240
50 240 96 144 4 1,944 1,350 1,944 1,242
132600 | &% 3 814
EE 234 210 24| 0.2 66 60 22
132800 [IZ5 a3 545
£E 55 0 55 1 626
=il 390 20 370 0.1 16 97 65
132900 |[tJLY)— ¥ 500
B4l 200 10 190 10 3. 780 3,780 3,132
133100 [7 R/NSHR % 511
E| 252 113 139 0.1 324 162 205 108
& 157 17 140 0.1 194 108 194 108
133200 [H 75— a3 600
EE 600 0 600 6 - - - 1,728 364
133300 [ZOwal)— 3 12,558
£E 1,536 222 1,314 6 1,620 1,944 432
B 2,490 1,500 990 6 1,944 1,836 1,512
El| 3,840 90 3,750 [ Z 160 1,728 2,808 864
133400 [L B R a3 22,473
R 5113 700 4413 10 1,944 1,458 2,592 1,080
EE 12,160 11,140 1,020 10 Z, 808 1,296 2,376 1,080
mS 2,200 500 1,700 10 2,700 1,944 2,916 1,944
RiF 3,000 2,100 900 10 1,404 1,404
133410 [ =—L 2R % 1,998
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4403 A 148 (AER)

R RENFEHIS (A15) 2B B #H

Frx ENFERHME 262 kv
(gL HEREFEST)
fnfh fnfh EEh ENFE = (ke) AR b tExIER 5|
AH Y5 x| Hiike) | SEME) | HEME) | REME) | SEME) [ #EE) [ RiEE)
Ik 675 270 405 4.5 1,620 1,944 1,404
®me 180 90 90| 45 1,944 1,944
0 75 0 75 5 1,728 1,080
133600 [/3t!) 3 40
LEdi 4 2 2 1 6,480 1,620 6,480 1,620
=50 2 1 1| 002 11 86
0 33 1 32 ] Z, 700 3,240 1,404
134100 |31 a3 14,640
§377 600 0 600 5 1,469 972
®me 3,890 590 3,300 5 1,620 1,404 1,998 1,134
IR 285 50 235 5 1,458 1,350 1,620 1,242
=il 530 530 0 5 1,620 1,242
= 1% 8,380 3,170 5210 5 1, 836 1,220 2,052 1,220
134200 |E R 3 1,280
—1—-U—-5uK 1,280 300 980 10 1,274 1,404
134300 |AaF e 5,926
3] 1,244 100 1,144 2 1,188 1,080 1,188 540
=40 4,097 1,581 2516 0.217 124 108 124 108
12w 385 47 339 03 157 162 157
134400 [r<k g 7,021
& 2,406 168 2,238 4 1,404 1,188 1,404 864
BE 4,590 204 4,386 [ 1,512 1. 296 1,836 648
134460 |2 =k<k ¥ 4,751
=l 329 30 299] 02 151 194 108
REAR 4422 954 3,468 3 Z, 160 1,512 3,564 864
134500 [E—<> 3 8,553
= 1,172 83 1,089 0.15 92 86 119 81
=] 5423 1,250 4173 0.13 107 86 92 70
134600 |[LLESHASL % 98
=5 98 3 95 0.1 194 324 65
135100 [LNAVIF A % 440
=il 60 4 56 /] 3. 564 4536 3,402
BR 10 0 10 2 3,240
135200 | B = 3 170
FFL 170 0 170 ] - - - 3,132 1,296
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4403 A 148 (AER)

R RENFEHIS (A15) 2B B #H

Frx EISEIAsE: 262 v
(gL HEREFEST)
fnfh &h EEh ENFE = (ke) AR b tExIER 5|
AH Y5 x| Hiike) | SEME) | HEME) | REME) | SEME) [ #EE) [ RiEE)
135300 [E—X # 724
eI 290 150 140 /] Z.376 1,080 2,592 1,080
BR 162 0 162 1 1,566 864
135400 [ZHFESH a3 180
BR 180 18 162 /] 1,674 1,728 1,512
136100 [MAL & 3 38,215
FIE 470 0 470 5 2,430 1,193
mE 3,585 240 3,345 5 2. 268 2,160 2,700 918
= 20 20 0 05 162
X5 6,920 0 6,920 5 1,944 864
136200 | 5% % 9,050
dtiEE 2,100 0 2,100 10 1,944 1,890
BR 6,950 0 6,950 10 - - - 3,002 2,192
136210 [A—2 1> a3 13,030
dtiEE 12,530 650 11,880 10 3. 240 1,512 3,402 950
BRE 500 0 500 10 3,240
136300 [ B ¥ % 1,280
ZE 1,180 130 1,050 10 3. 024 2. 268 1,944 1,836
fhE 100 0 100 10 1,728
136600 [f=F4a = 3 860
dtiEE 110 0 110 10 4,968
B4 390 390 0 10 3. 456 2, 808
£E 90 90 0 10 3,780 3,240
R 20 20 0 10 3,618
KE 250 0 250 10 3,888
137200 |[L&5H a3 671
= 560 0 560 0.08 - - - 58 51
BE 111 0 111 4 1,404 1,134
137250 |FTL£5H ¥ 12
=5 12 0 12 2 - - - 2,700
138100 | LLM=1F ¥ 1,966
EE 65 30 35| 0.1 97 108 76
mE 1,089 30 1059 0.2 221 216 86
138400 |[Z DEE 3 5,487
£E%H 5,487 500 4987 0.2 54 42 54 43
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PR REFETS (KI5) BEB#HK
4403 A 148 (AER)

Frx EISEIAsE: 262 v
(gL HEREFEST)
fnfh fnfh EEh ENTE = (ke) iR Y5 HARERE|
AH Y5 axt Hfike) | 2MEEA) | ®EEA) | REM) | SEME) | £EME) | REME)
138500 |LHLE % 1,962
EH 1,959 225 1,734 0.2 VE] 73 59
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4403 A 148 (AER)

R RENFEHIS (A15) 2B B #H

= ESEfAsE: 733 bv
(gL HEREFEST)
fnfh fnfh EEh ENFE = (ke) AR b tExIER 5|
A H Y5 axt Hfike) | 2MEEA) | ®EEA) | REM) | SEME) | £EME) | R{EME)
240700 | @R M A A % 1,768
e 1,768 880 888 10 3. 996 1,296 3,780 1,080
241260 |[HEHH A % 6,820
ZIE 6,820 6,720 100 10 1,296 972 1,728 1,404
241300 [{FF % 7,263
£ 7,263 3,770 3493 10 3, 451 972 3,024 864
241320 | /\¥H % 3,740
L5 3,740 3,740 0 10 1,728 1. 080
241481 [T ak> % 11,465
FFrL 980 0 980 3 3,024 2,160
Fl| 3,215 2,115 1,100 5 1,944 1,080 2,160 1,404
BHE 6,340 2,640 3,700 10 864 1,728
242320 (33 —ILk % 150
= 150 150 0 10 2, 808
242830 [ S\CYAC ¥ 17,052
&5 17,052 8,988 8,064 20 5. 124 5616
242850 | EMUAC % 3,964
&5 3,964 1,854 2110 20 5.616 5,400
246000 (V6T % 20,186
EE 62 5 57| 025 670
El| 371 177 195 0.25 389 389 313
=i 3,251 1,045 2,206 027 464 248 518 194
kB 11 2 9 022 1,674 1,674
KI5 6,925 759 6,166 025 335 248 346 194
REAR 8,583 3,775 4808 0.25 346 216 378 216
=I5 983 53 929| 0.27 270 313 108
247100 [7—JLA A % 425
E4m 340 196 145] 8.5 14, 904 7. 560 14,040 7,560
= 85 68 17 8.5 7,020 3,564 4,968
249300 [FD4T)L—Y 3 432
IR 432 0 432[ 3.6 - - - 2,700 1,944




